Warm-Up
How many and what type of solutions does
the following equation have:
~16m” +6m —3=6—8m"
Solve each of the following using the

quadratic formula: s+ \]hb"-qo\c
2) 2n° +11=12n —=a

3) v +4=13



Answers to Homework #8&

1) —12; two imaginary solutions 2) 196; two real solutions 3) |5, - P
"3
1+VI13

5 3,_1} 5 —5+«./5’—5—\/E} 6 ,1—\/3}
5 10 10 4 4

2 5+2iv5 5—2i\/§} 8) {9, -9} 9) (a1, -/a1]
5 7 5
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Ybiect
Today we will:

e Graph Quadratic Functions

¢ |dentify and label parts of the graph



What is a parent graph?

What can the vertex also be referred to as?

How does the AOS help make graphing
easier?

What is the relation between zeros and X-
Intercepts?
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¢ Vertex
o A?(is Q.f S_ymme_tg(

¢ Y-Intercept
e Other Poin

e X-Intercepts

AOS)



f(x) = x% - 8x +15



Vertex:

_b f
X Y
¢ \Vertex is either the lowest point, minimum

or the highest point, MAXimum m



Axis of Svymm A
_ —b
= 24

¢ \Vertical Line that goes through the
vertex and cuts the parabola in half
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Up: Positive @ valve U

Down: l\f@go&'\\/@ on VOlR ﬂ



Y -Intercept
@ug In Zero for X!

This (s a (\Doiﬁjr {



Other Points

e Set up a table
e Use X values near vertex
¢ Remember graph is symmetrical!



X 7%Xjétem§m ’107

--2 12; o
o Related to Solutions (Sl , O )
e Use full Coordinate
o Complex Quadratics have
solutions but no X-Intercepts

X = ’5:32' SO \u¥ons
ore X1 b




Example 2:

Y

f(x) = -2x2 - 4x - 1| [\

b _ 4y
Vertex: ke C_\) D

AOS: x,_____\

e (O)- 1)

Ry
—— "

Points: x|0 ' -2 1 =
{,T [ =7 =¥
Zeros: 51:’:\5’2

e
X-Int:

Z
(_1.7,0\ G’zq’@




Example 3:

f(x) = x% + 6x +7

1 Vertex:

H

s AOS:

3|

. Y-nt:
EEEEEP 55780 %

: Zeros:




Example 4: |[f(x) =-2x% + 16x - 34

] Vertex:

i

3

. Y-nt:
54321 123456789 1%

: Zeros:




Example 5: |[f(x) = -x% - 8x - 17

*>y

" Vertex:

AOS:

—iN(.n_J-L(ﬂI’)-ICD

Y-Int:

% ¥

Zeros:




Wrap - Up
What is a parent graph?

What can the vertex also be referred to as?

How does the AOS help make graphing
easier?

What is the relation between zeros and X-
Intercepts?









